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o IR—LR—U M5 Pentagonjavaz 2 Y
O—KLT., 3/ I)L-FETLET,
o javac Pentagon.java
o java Pentagon

o 774 JLpentagontxthh&ESnEz L= &
R LFT,

o gnuplotTpentagon.txtO B ZHE L £,




Pentagon.java

import java.io.*; Ny r—2io
public class Pentagon{ e 5. '
public static void main(String args|]) throws IOException

double x,y,t;
int division_num =5;

File file = new File("pentagon.ixt");
PrintWriter out = new PrintWriter(file);

for(int i=0; i<5; i++){ i@’;;)é%;é@
t = Math.Pl/division_num?*;
x = Math.cos(t); y = Math.sin(t);
out.printin(x +"," +y);

}
t=0: BROOREBARLET,
x = Math.cos(t); y = Math.sin(t); AL TWWS 2 A= HE

9 51=0I.

out.printin(x +"," +v); N—ET ZDIINHETT

out.close();




N T (Bezier curve) DiEE

O2DMEIKICH DA FA—JLIRA 2 k(xy) (=012, ... n)ZEE>
T, BoOMNGHRZEET D,
oI THIRRIF/NT A R v VRO TRE SN D,

offll : N=3MkF i
x(t) = xot3 + 3x,t2 (1 —t)+ 3x,t(1 —1t)2 + x3(1 —1¢)3
y@®) =yot® + 3y, t2 (1 =)+ 3y, t(1 —)* + y3(1 —t)?

HE

x(0) = x0,¥(0) = yo,x(1) = x3,y(1) = ys.
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o tIR—LR—U M 5Bezierjavaz 4 rO—FK
LT, ?220&ZAIZa—FENTLEELY,

o Hpk T Bcurve.ixtZgnuplot THEEY 5.,




N THIEOEDETE(Java)

OZEENKR—LR—IUh SBezierjovaErF o
O—KLT, au/8q4JL - FTFLTLESEL,

olJavaZ Oy S LDa NS ILEE

javac Bezier.java
java Bezier
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> plot “curve.txt” with line linestyle 3 linewidth 2
> plot “curve.ixt” with points pointtype 3 pointsize 2
> plot “curve.txt” with linespoints title “Bezier curve”

NI AFZDHA -

linestyle: M#RO BTG E

linewidth: 8 DK

pointtype: M THET 5L E. RDEH, =/A., ] &
pointsize: mMDY A X

titte: 55 7DA A L




74974 2% (Curve fitting)
O B £ IR D AVIHIR TS 5.

o@iﬁsgﬁﬁﬁﬁofiﬁw?—ﬁgﬁw
%

o F(x) =a+ bx +cx?+dx3+ex*+ fx°
(a,b,c.d.ef: [ETXRE)




JEE 2 Curve fitting

BEOR—LR—=—Uhbdatatxtz Do o—
FLT, gnuplotTT—2D 74 v T4 2T %L
A Y AW

Gnuplot@an§

F(x)=a+b*x+Cc*x**2 + d*x**3 + e*x**4 + f*x**5
fit F(x) “*data.ixt” via a,b,c,d,e f
plot F(x), “data.ixt” with points




INTAR) O -RER DHEE

12 /NT AN )RR TRIET 5 &

x(t)=cos(t),y(t)=sin(t),0<t<2m

GnuplotTOEE A%

set parametric
set trange[0:2"pi]
y(t) = sin(t)

X(t) = cos(t)

plot x(t), y(t)
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o gnuplot TBezierfi#RMD/NS5 A F 1 v U HAiR Z fa
B LTS,

gnuplotD s 55

set parametric

set tfrange[0:1]

x(t) = (FEXZEVTLLEZELY)
y(f) = GIEXzZzZWLTLZELY)
plot x(t), y(t)




